59.0

59.0
50 60

0% 20% 40% 60% 80% 100%

esiao) Y5t >
R Y

s e NEET_n
SN

- NN NN RN 77 7 7

0% 20% 40% 60% 80% 100%

e \\\\\\\\///%‘ 4
S
- N ]

(n=243)

59.0

521

58.0

59.9

64.8

725

64.1

62.6

55.8

53.1

56.4

408

47.8

41.9

39.8

34.9

26.1

355

374

44.1

46.9

432



75.2

75.2
50 60
180 39.7
73.2
53.2 53.0
= O (]
0% 20% 40% 60% 80% 100%
eanao) o.s 752 246
I Y s 787 260
. Y161 fo.: 10 189
oo SN 08 300
NN l
ees6) NNNNNNEVANNNNN A 7 751 25
= m] =
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
s R ‘°-- o e 174
o0 m\\m—i 00 197
) T AT 204
7
(n=948) mm\\‘mm 749 250
_— m\\mx\\\\m\m—ﬂ‘ o1 35
60.5 395

(n=243) RUTRT Y 206 847




80.0
70.0
60.0
50.0
40.0
30.0
20.0
10.0



64.9

28.7

64.9

28.7

64.9

39.4
(60.3 ) (50.6 )
39.4 50 60
60.3 50.6
= Od =
0% 20% 40% 60% 80%
ms140) :m\\\\\\\\\\\\\\—z,;ﬁ/‘ 507 304
NN
R, \\\\\\\\\\\\\\\\\b\\\\\\\\\\\\\\\\%{/ﬁ‘ 0.4 624 372
\ NS
oo SN 2e - 644 304
a5 -\\\\\\\\\\\\\\\\ Vﬁfo’l 522 458
a5 SN\ 777 500 301

70.0

60.0

50.0

40.0

30.0

20.0

- 10.0



0% 20% 40% 60% 80% 100%
s -\\/m‘ 1 45
\ N
ey MAMMNMITT ez R 00
P S —— wr
NN
U AN e 7 7 a9
erse &\\\\\\\\\\\\\\\\\\\\m\\\\\\\\\\\\\\\\\\\/ﬁ 128 212
. --o 70 230
603 70.0
””” e pm = ) B
———————————————————————————————————————————————————————————————————— 50.0
39.7
317 40.0
30.0
15.8 12.3 16.6 20.0
23 B te 73 LR L At | 100

n=627 (n=747 (n=491) (n=392)
(%) (%) (%) (%)
59.5 62.4 75.4 92.1
59.5 52.5 68.8 36.2
59.3 42.8 44.6 27.3
55.3 40.8 36.0 22.4




4.4
16.7 15.2

4.4
16.7 15.2

T T - - """"-"""7"-"""7"7"7-"7"-"7-"7/"¥"/="/-"¥"/-"¥"/-"¥"//'¥"//'¥"//¥/-—¥7-7/ /-7 ------1387 15.0

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,



62.1% 67.9

720 960 2,000
3,000
= O ]

0Y 20% 40% 60% 80% TO00%
e NS w6 T 10 % 21
o e L — )]
wesoy BN 185 1777777777757 © 174 768
(n=290) ‘w~_/////////////f%7////////////ﬂ 1.4 210 776
(n=898) ‘%\\\‘i@‘m . /////////}jé’//////// 0.3 274 723
(n=948) ‘?‘Q\\k\\\\\\ﬁ - Y ”7?////—’ 0.5 397 59.8
(n=224) ‘ - 54.5 455
w24 OO’ 733 255




100

200

300

500

700

1,000

2,000

3,000

n=3140)

n=240)

100
n=257)

200

n=135)
300

n=161)
500

n=243)
700

n=204) 1

1,000
n=266)
2,000
n=366)
3,000
n=228)
5,000
n=169)
5,000
n=116)

n=755)

0%

20% 40% 60% 80% 100%

13

SN \
iﬁﬁﬁﬁﬁIIIIIIZE&!IIIIIZEEEZEEEZ%%?2%%2Zﬁ%ﬁ%@?ﬁ%ﬁﬁ%ﬁ?ﬁ%ﬁ%ﬁﬁ%ﬁﬁﬁ 0.4

A
\5§E§§IIIIIIEBI!IIIIIIEZ%%EZ%%%EEZZ%5EZZE@%?Z%E%EZ%%EZ@%%EEZ@%@‘ 15

=

S
212 . 7777778777700
WJ&W‘ 0.8
2&%&2%2%&%@%%2%2%%5
777258 77/6|0
2487010

/
B2

N
§§E§S§§§E§§E§¥§S§§S§§§S§§§§§E§IIIIIIEE&!IIIIIE&E%E%6
|

Z%Z%ZE@ZEEE@%E%ZE%E?I 2.3

299

6.7

105

111

137

214

206

301

383

513

62.1

81.0

302

67.9

90.0

89.1

87.4

86.3

778

78.9

69.9

474

373

19.0

62.8



27.0

27.0
52.2
35.2
34.8
5] = O @ m
0% 20% 40% 60% 80% 100%
. SR 2 b s 70
st Y s 7P s ”»
oetre e B oo a2 172
B NN w7777 T s
neson S s 0 s .
( 18)) Nﬁ“%%ﬁj 50.0 50.0
= - S
(1=23) NN 777 435 522
60.0
52.2
”””””””””””””””””””””””” 2 (n=847)[ ~~ 7| 500
348 352 40.0
30.0
e - .. ——— 30.0
TR . . 70 208 200
6.3 7.1 10.0
2.6 0.5 0.4



27.2

10.2 (47.9 )
(41.3 ) (37.2 )
27.2
10.2
47.9 41 .3%
37.2
m s
0% 20% 40% 60% 80% 100%

(n=3160)

(n=3160)

AR

16

-10 -

(n=1033)

60.0
50.0
40.0



22.6

44.2
65 44 .2
22.6 70 18.5
60 10.8
= | o 5] 8 8 o

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

(n=2545)

(n=1266)

(n=1279)

44 4
44 4 16.8
13.0
21.6
50.0
44 .4
z (n=3140)
————————————————————————————————————————————————————————————————————— 40.0
————————————————————————————————————————————————————————————————————— 30.0
216,
16.8 20.0
13.0

-11 -




15.9

5.7
61.6% 50 60
180 7
54.6
47.5 47.3
46.4
m O o m
0% 20% 40% 60% 80% 100%
st .G S s
(n=1709) LRI 290 63.7
m O o m
% 20%  40%  60% 80  100%
ezt O YT
-~ RO 74 Bd- e
(n=290) L2 231 903 707
(n=898) L e 201 [BU6] - 624
(n=948) g2 315 7l - 605
(n=224) AN 36.6 E\M 0.4 53.6
(n=243) %\\\\\\\\\\\\\“‘Iﬁ 317 |78 - 60.5

-12-




-13-

54.6
o (n=3140)]
473475 ¢} A464-- - - - - sy
42.2 _
N B D D TR
9.5
I ISP - TN AN I o D I - SR

60.0

50.0

40.0

30.0

20.0

10.0



66.6

66.6

13.6

1 80.0
-l m (N=3140) |~~~ "~ oo 66.6mmey—7 - ----- 70.0
Tl m e 1-) Y 1 5= 60.0
T e e | (== S 50.0
o (n=2195)
A e [ =t S 40.0
i 30.0
13.6_13.
[JERE S Y S N v R - ({5 S 20.0
| ||||| 181420 161317141215 162313 010101| 00
1 = 1 = | | = | 1 _
(52.1 )
(48.1 )
52.1 48.1
1 60.0
50.0
40.0
30.0
20.0
10.0

-14 -




92.0

92.0
81.0%

0% 20% 40% 60% 80% 100%

ssots ST W
i NN\
S

(n:908) \\\\\\\\:\h\\\\\!f :
S
m1450) NN B

R N :
(n=444) \\\\\\\\@h\\\\\\\\\\f_’l‘
I A
(n=91) ‘ ‘ NN

0% 20% 40% 60% 80% 100%

rms0s8) TN
_\\-‘M

(n=476) \\\\\\\\\\k\\\\\\\- .5

NEEEERN

(n=1396) \\\\\\\\\“\m{\\." 4
__ﬂ\

320 49 o
T

20 \\I 0.4

(n=933)

(n=237)

-15-

92.0

81.0

938

916

93.0

923

92.0

855

923

941

954

6.9

134

58

7.1

6.5

55

6.9

13.0

6.4

53

42




0% 20% 40% 60% 80% 100%

(n=3140)

(n=1431) 6.7 9.2 | 183
(

(n=1709)

0% 20% 40% 60% 80% 100%

(n=3140)

(n=159)

(n=309)

(n=2672)

-16-







87.6

87.6

(] O ]

0% 20%

40%

60% 80% 100%

§§§§§§§§§§§§§§§§§§§§§§§§§§§§§§E§ 8.5 % 1.7 87.6
—

DNNWIRNNWE

(n=3140)

(n=500) 81.0

87.1
(n=1434)

907
(n=957)

(n=246) 2.0 927

=
@
O
5]
]

0% 20% 40%

_—_,_ U thyes 7
_,EEtr

60% 80% 100%

(n=3140)

(n=2517)

(n=174)

(n=101)

(n=307)

(n=18)

(n=23)

-18-

87.6

89.6

79.3

87.1

715

722

82.6

10.7

16.4

116

77

53

10.7

9.0

178

109

19.2

222

174



32.5
16.8
32.5 16.8
70.0
@ Q26)
————————————————————————————————————————————————————————— 60.0
07 515 (n=3140)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 482 om0 Q2)) 500
16 34.8 s o4 LS 40.0
- : 26.8 18.0 30.0
0.2
- H 6.8 20.0

70.0

60.0

50.0

40.0
30.0

20.0

10.0

0.0

-19-



@ Q) 60.0
( n=235) 50.0
m Q27) :
( n=235) 40.0
B Q26)
8 Q27)
( n=2905)| 20.0
10.2 100
1.9 040 5 04 g5 1
13 0.3'40.%5 0.9 0.055
0.0

-20-



95.2

95.2
79.4
14.8
4.0
m O =
0% 20% 40% 60% 80%  100%
esnao) TR 1 s 35
-/ Wi
(1=500) I:**:.\\\\\\\\\\\Y“ﬁl&\\\\\\\\\\ﬁgé=| 3.8 89.8 6.4
-] &
(n=1434) &\\\\\\\\\\\\\\\N\\\\\\\\\\\@ll 0.5 95.8 37
S N A
s TR 15 o, ’s
- — a4
(n=246) &\\\\%‘ﬁ‘k\ﬂgl 0.4 98.4 12
635 70.0
----| 60.0
B (n=3140)
o (ewa3n) || 200
@  (n=1709) |~~~ | 40.0
30.0
————————————————————————————— 200
1924 15 4 050, e
== — 0.0

-21-




0% 20% 40% 60% 80% 100%

T

(n=3140)

-22-



37.5
33.1
70.5
78.7
48.2
] O ]
0% 20% 40% 60% 80% 100%
(n=3140) ’\\\\%&N\\\ﬁ 37.5 T/ 7" 220 705
(n=671) ’W§N | 37.7 182 75.4
netsa ‘\\\\%&\\\\\ GE R 220 -
eresy IS w0 7777 ST
] 1 N ]
(n=382) 220\ 39.3 D% 228 69.9
(] O =
0% 20% 40% 60% 80% 100%
VNN~ NN 1/, 2 136 788
ez AR . T 214 725
(n=957) N\ﬁm . G g 26.2 65.7
N _—
(n=246) NN 285 P77 26.4 60.6

-23-




0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

ey NS 310 77757777/8ms o6
[ -
(1=290) {W‘S\k\\ 1 77555777 4 200 678
(1=898) ’\\R“\Q\N 30.1 V77735777 -3 217 709
s | N o
(n-oagy FRNEAZN] 386 W77 %% 241 700
' | | |
(n=224) (PO 38.8 G 259 665
(n=243) PG 436 V%7 230 728
90.0
78.7 80.0
************************************************ - m (n=2214)| =1 70.0
————————————————————————————————————————————————————————————————————— 60.0
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 482 R (S
35.1 37.2 40.0
29.7

————————————————————————————————————————————————————— 30.0
————————————————————————————————————————————————————— 20.0
ST EEEEE O EEER R EEEE R 46— 10.0

| = 05

=24 -



69.0

64.6

50.9

69.0
64.6

-25-

80.0
70.0
60.0
50.0
40.0
30.0
20.0
10.0



